ﬂé Finding Midpoint Based on Coordinates

Name:

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1
2 , 2
To find the midpoint of the 2.
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. 3
e '
O 4+8 5+1 o
> 2 2 . 4
\_ ’ J|"
5.
Y (0,0)&(5,0)
6.
2)
(4,6)&(2,5) 7.
3 (8,10)&(9,6) N
9.
Y (2,0)&(9,9)
10.
% (1,1)&(3,1)
11.
® (7,9)&(0,10) 12.
D (1,3)&(8,7)
8)
(4,2)&(0,9)
9 (9,3)&(3,10)
19 (3,0)&(3,7)
1 (4,10)2(9,6)
12 (10,4)& (4,4)
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Finding Midpoint Based on Coordinates Name. Answer Key
Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\ 2
4 X; + X, yity, A L ( 5’0)
2 ., 2
L (45 To find the midpoint of the 2. (3 1 55)
O coordinates (4,5) and (8,1), plug the O
valuesinto the midpoint formula (63 3 (85 , 8)
(BLL 1 4+8 5+1 +
L, — (55, 45)
2 2 _ 5, 4.
\_ |
5. (2,1
1) 0+50+0 \ _
(0,0)&(5,0) ( S ) = (25,0) . (35.95)
2) (4,6)&(2,5) (4;2,6;5) = (3,55) 7 (45,5)
3) (8.10)& (9, 6) (8-;9,102+6) _ (85.9) g. (2,55)
o. (6,6.5)
4 (2,0)&(9,9) (2;9,0;9) - (55,45)
0. (3,39
5)11&31 1+31+1:21
e (585 - . 5.3
% (7,9)&(0,10) (720,9;10) = (35,95) w (7,9
D (1.3)8(8,7) (1;8,3;7) - (45,5
D (4.2)8(0,9) (132237 = 2,59
9 (9,3)&(3,10) (9;3,3;10) - (6,65)
19 (3.0)&(3.,7) (3;3,0;7) - (3,35)
W (4,10)& (9,6) (4;9,10;6) - (65,9
12 (10,4)8& (4, 4) 107“1,4%4) = (7,4)

Math
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1
2 , 2
To find the midpoint of the 2.
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. 3
e '
O . 4+8 5+1 o)
2, 2 > 4.
\_ Y
5.
Y (0,1)&(6,9)
6.
2 (6,10)& (3,10) .
3 (7.8)&(10,8) N
9.
Y (0.6)&(9,7)
10.
° (6,1)&(2,8)
11.
6
) (0,7)&(8,5) 12.
) (5,8)&(4,9)
8 (7,8)&(10,0)
9 (1,7)&(0,3)
9 (1,2)&(2,7)
D (8,10)&(7,7)
12 (0,4)&(9,5)
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
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Finding Midpoint Based on Coordinates

Name:

Answer Key

Find the midpoint of each set of coordinates.

/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A
2 . 2
L1 (45 To find the midpoint of the
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. (63
L;%q—» 4+8  5+1 =
20 5
\L Y,
1 0+61+9
) (0.1)&(6,9) ( JZ’ , JZ’ ) = (3,5)
2 (6.10)& (3,10) (6;3,10;10) - (45, 10)
3 (7.8)& (10, 8) (7+210,8;8) - (85,9)
4 (0.6)&(9.7) (029,6;7) - (45,65)
® (6.1)&(2.8) (6;2,1;8) - (4. 45)
6 0+87+5
) (0.7)&(8,5) ( JZ’ , JZ’ ) = (4,6)
) (5.8)&(4,9) (5;4,8;9) - (45,85)
8 (7.8)&(10,0) (7+210,8;O) - (85, 4)
9 (1.7)&(0.3) (120,7;3) - (05,5)
19 (1,2)&(2,7) (1;2,2;7) = (L5, 45)
) (s 10)&(7,7) (8;7,10;7 ) = (75,85)
12 (0.4)& (9.5) (029,4;5) - (45,45)
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10.

11

12.

Answers

(3.9

(45, 10)

(8.5, 8)

(45, 6.5)

(4, 4.5)

(4.6)

(4.5, 8.5)

(85, 4)

(0.5, 5)

(15, 4.5)

(7.5, 8.5)

(45, 4.5)
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1
2 , 2
To find the midpoint of the 2.
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. 3
e '
O 4+8 5+1 o
> 2 2 = 4
\_ ’ J|"
5.
Y (9,9)&(9,1)
6.
2)
(0,1)&(4,8) 7.
3 (10,8)& (0,5) N
9.
Y (4,9)&(4,10)
10.
® (7,9)&(6,4)
11.
6
) (8,2)&(9,1) 12.
7)
(6,8)&(0,0)
8)
(1,8)&(6,4)
9)
(3,5)&(9,8)
19 (3,1)&(2,10)
W (2,5)&(0,9)
12) (10,9)&(8,6)
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
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ﬂh Finding Midpoint Based on Coordinates

Name:

Answer Key

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1 (9 ! 5)
2 , 2
L (45 To find the midpoint of the 2. (2 1 45)
O coordinates (4,5) and (8,1), plug the O
[ values into the midpoint formula. (63 3 (5 , 65)
L 4+8 5+1 +
T &H
> ? 2 > s (4,959)
\_ Y
5 (65,6.5)
1) 9+99+1 B
(9,9)&(9,1) ( S ) = (9,5) . (85,15
2 (0,1)&(4,8) (024,1;8) - (2,45 . (3,4
3 (10,8)& (0,5) (1024-0,825) = (5, 6.5) g. (35,6)
o. (6,6.5)
Y (4,9)&(4,10) (4;4,9;10) = (4,95)
0. (25,5.5)
5) 7+69+4
,9)& (6, , = (6.5,6.
(7196 4) (2 2 ) (6569 11. (1,7)
® (8,2)&(9.1) (8;9,2;1) = (85,19 . (9,7.5)
) (6,8)&(0,0) (620,820) = 3,4
P (18)8(6,4) (F3°%1%) = @59
P (358098 (33°°3%) =669
19 (3.1)& (2,10) (3;2,“210) = (25,55)
(2 5)&(0,9) (220,5;9) - @,7
12 (10.9)& (8.6) (1058,9;6) - (9,75)
1-10 | 92| 83| 75|67 |58 | 50| 42| 33| 25| 17|
Math www.CommonCoreSheets.com 3 11-12| 8 | O




|

Finding Midpoint Based on Coordinates

Name:

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1
2 , 2
To find the midpoint of the 2.
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. 3
e '
O . 4+8 5+1 o
2 ., 2 > 4.
\_ Y
5.
b (3,10)&(8,8)
6.
2)
(1,0)&(6,5) 7.
9 (1,5)&(2,8) 2
9.
Y (10,4)&(0,7)
10.
5) (6,10)& (10,1)
11.
6
) (2,8)&(2,2) »
7 (0,7)&(9,6)
8 (7,2)&(1,10)
9 (6,8)&(8,6)
19 (6,8)2(6,3)
1 (0,6)2(3,3)
12) (9,10) & (10,9)
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 4 11-12( 8 | O
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Finding Midpoint Based on Coordinates Name. Answer Key
Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X; + X, yity, A L (55 ! 9)
2 ., 2
(25 To find the midpoint of the 2. (3-5 ' 2-5)
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. (63 3 (15’65)
Lﬁlq— 4+8 5+1 + &1
> 2, 2 > s, (5,55
\_ Y
5. (8 ) 55)
1) 3+810+8 _
(3,10)&(8,8) ( S ) = (55,9 A 2.5
2) (1,0)&(6,5) (1;6,0;5) = (35,25) 7. (45,6.5)
3 (1.5)&(2.8) (1;2,5;8) - (15,65) s (4,6)
9. (7 ’ 7)
Y (0.920,7) (L0 =655
10. (6 ) 55)
% (6.10)& (10,1) (6+1010+1) - (8,55)
’ ’ 2 7 2 ' 1. (1.5,4.5)
¥ (2.8)8(2,2) (53252 ) = @9 1 (95,95)
D (0.7)&(9.6) (029,7;6) - (45,65)
8 (7,2)&(1,10) %1%)) = (4,6)
9 (6,8)&(8,6) (6;8,8;6) - (7.7
19 (6.8)& (6,3) (6;6,8;3) - (6,55)
D (0.6)&(3,3) (023,6;3) - (15,45)
12) (9.10)& (10,9) (9+210,102+9 ) = ©5.99
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1
2 , 2
To find the midpoint of the 2.
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. 3
e '
O . 4+8 5+1 o
2 ., 2 > 4.
\_ Y
5.
D (8,6)2(7,9)
6.
2)
(7,2)&(9,0) 7.
3 (8.1)&(5,3) N
9.
Y (4,0)&(9,8)
10.
® (9,6)&(8,5)
11.
® (6,7)&(10,10) 12.
7 (1,7)&(7,8)
8) (10,8)&(8,10)
9 (0,10)& (1,10)
19 (7,2)&(9,7)
D (6,5)&(9,1)
12) (5,6)&(9,10)
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
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ﬂh Finding Midpoint Based on Coordinates

Name:

Answer Key

Find the midpoint of each set of coordinates. Answers
4 Midpoint Formul T N\
/A |X1|110|Xr:t o)r/lrrluyzzi 'ihem|dp0|nt|sat(6,3h . (7.5’7.5)
2 , 2
L (25 To find the midpoint of the 2. (8 1 1)
O coordinates (4,5) and (8,1), plug the O
valuesinto the midpoint formula (63 3 (65 , 2)
[ngl:l;r O "
i I\P'_> 4+8 5+1 OH
2 ., 2 > 4 (65,4
\_ Y
5. (8.5,5.5)
1) 8+76+9 \ _
(8,6)&(7,9) ( R ) = (75,7.5) . (8.85)
P (1.2809,0) (5252 ) = @1 . (4,75)
3 (8.1)&(5,3) (8;5,1;3) - (65,2 s _ (9,9
o. (05, 10)
Y (4,0)&(9,8) (4;9,0;8) - (65, 4)
0. (8,49
5) 9+86+5
9,6)& (8,5 , = (85,55
(9.6)&(8,5) (55 ) = ( ) L (75.3)
® (6,7)& (10,10) (6+210,7+210) = (8,85) . (7,8
) (1,7)&(7.8) (1;7,7;8) = (4,75)
® (10,8)& (8,10) (102+8,8+210) - 9,9
9 (0,10)& (1,10) (021,10;10) - (05, 10)
19 (7.2)& (9,7) (7;9,2;7) = (8,45)
D (6,58 (9,1) (6;9,5;1) - (75,3)
12) (5.6)&(9.10) (5-;9,6+210) - (7.8)
M ath 5 1-10 %2 %3 75|67]58]50]42[33]25]17|
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1
2 , 2
To find the midpoint of the 2.
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. 3
e '
O 4+8 5+1 o
> 2 2 = 4
\_ ’ J|"
5.
Y (2,6)2(2,9)
6.
? (10,6)& (6,5) .
9 (3,7)&(0,1) s
9.
Y (10,3)&(5,0)
10.
° (2,5)&(6,2)
11.
6
) (6,7)&(0,9) 12.
7 (1,1)&(1,3)
8) (6,5)&(10,0)
9)
(5,4)&(2,4)
19 (2,9)&(0,6)
19 (2,9)&(10,0)
9 (5,4)&(2,10)
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
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Finding Midpoint Based on Coordinates

Name:

Answer Key

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X; + X, yity, A L (2 ! 75)
2 , 2
(75 To find the midpoint of the 2. (8 d 5'5)
O coordinates (4,5) and (8,1), plug the A
= valuesinto the midpoint formula {6,3V 3 (15 , 4)
AT
— = o Jl. (75,15
\_ Y
5. (4 ) 35)
D (2.6)8(2,9) (2;2,6;9) - 2,75 . 3.9
2 (10.6)& (6.5) (1056,6;5) = (8,55) 7. (1,2
3) (3.7)8(0.1) (320,721) - (15.4) g (8,25
9. (35,49
4 (10,3)&(5,0) (1055,320) - (75,15)
10. (1 ) 75)
Y@oaen (50750) 5 @09 (6,45)
11. y A
6) (6,7)&(0,9) (620,7;9) = (3,8) 1 (35,7
D (1,1)&(1,3) (1;1,1;3) = (1,2
8 (6.5)&(10,0) (6+210,5;O) - (8.25)
9 (5,4)8&(2,4) (5;2,4;4) = (35,4
19 2.9y (0,6) (220,9;6) - (1,75
1) (2. 9)&(10,0) (2+210,9;O) - (6,45)
12 (5,4y8(2,10) (5;2,‘”210) - (35,7
1-10 | 92| 83| 75|67 |58 | 50| 42| 33| 25| 17|
Math www.CommonCoreSheets.com 6 11-12| 8 | O
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1
2 , 2
To find the midpoint of the 2.
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. 3
e '
O 4+8 5+1 o
> 2 2 . 4
\_ | J|"
5.
Y (7,2)&(9,1)
6.
2)
3 (6,6)&(3,10) 8.
9.
Y (5.1)8(1,4)
10.
° (1,3)&(5,5)
11.
® (10,1)&(1,5) B
" (3,5)&(6,9)
8)
(0,2)&(0,6)
9 (1,1)8(8,2)
19 (1,6)&(9,5)
W (4,4)8(1,10)
12 (9,2)&(7,2)
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
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Finding Midpoint Based on Coordinates

Name:

Answer Key

Find the midpoint

of each set of coordinates.

/ Midpoint Formula The midpoint is at (6,3).\

4 X, X, YitY, A

2 . 2
L1 (45 To find the midpoint of the
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. (63
[81 O
TroH, 4;8 5;1 o,

\_ | Y,
D (7.2)&(9,1) (7;9,2;1) = (8,15)
2 (7.2)&(0.8) (720,2;8) - (35,5)
3 (6.6)&(3.10) (6;3,6;10) - (45,8)
4 (5.7)&(1,4) (5;1,7;4) = (3,55)
® (1.3)&(5.5) (1;5,3;5) - (3.4)
® (10.1)&(1.5) (1051,1;5) = (55,3)
) (3,5)&(6,9) (3;6,5;9) - (45.7)
8 (0.2)&(0.6) (OJZ’O,Z;G) - (0,4)
9 (1,7)&(8,2) (1;8,7;2) = (45,45)
19 (1.6)&(9,5) (1;9,6;5) - (5.55)
W oaae 10 () = s
12 (9.2)&(7.2) (9;7,2;2) = 8,2

Math

Answers
. (8,15
. (35,5
s (45,8
s (3,59
s _ (3,4
6. (55,3
. (45,7)
s _ (0.4
o. (45,45
0. (5,55
n (25,7
2 (8,2
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1
2 , 2
To find the midpoint of the 2.
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. 3
e '
O 4+8 5+1 o
> 2 2 . 4
\_ ’ J|"
5.
b (1,7)&(1,9)
6.
2)
(8,1)&(3,9) 7.
3 (a,5)&(4,7) s
9.
4) (4,10)& (5,5)
10.
° (4,10)&(7,4)
11.
® (0,9)&(10,0) 12.
D (a,7)8(7,9)
8) (10,6)&(9,10)
9)
(8,0)&(5,2)
9 (1,6)&(6,10)
D (4,9)2(2,9)
19 (1,6)&(0,7)
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
Math www.CommonCoreSheets.com 8 11-12( 8 | O
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Finding Midpoint Based on Coordinates

Name:

Answer Key

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1 (1 ! 8)
2 , 2
(75 To find the midpoint of the 2. (5'5’5)
O coordinates (4,5) and (8,1), plug the A
[ valuesinto the midpoint formula (6.3 3 (4 , 6)
S 4+8 5+1 T
—— AR (45,7.5)
2 ., 2 _ o, .
\_ J|*
5. (55’7)
1) 1+17+9 \ _
(1,7)&(1,9) ( 5 ) = (1,8) . (5.45)
P (8. 1)&(3,9) (52557 = 65.9 ., (55,8
3) (4.5)8 (4.7) (4;4,5;7) - 4.6 g. (95,98
9. (6511)
Y (4,10)& (5,5) (4;5,10;5) = (45,75)
10. (3518)
O (4.10)8 (7,4) (L0142 55,7
e (FH51) <60 . 6.9
6) (0,9)&(10,0) (O+210,9;O) = (5,45) 1 (0.5,6.5)
7) (4.7)&(7,9) (4;7,729) - 55.8)
8 (10.6)& (9,10) (102+9,6+210 ) = ©5.9
P (8.00&(5.2) (33257 = 65,1
19 (1.6)&(6,10) (1;6,6;10) - (35,8)
W (4,9)8(2,9) (‘“2’2,9;9) - 3,9
12 (1.6)&(0,7) (120,6;7) - (05,65)
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1
2 , 2
To find the midpoint of the 2.
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. 3
e '
O . 4+8 5+1 o
2 ., 2 > 4.
\_ Y
5.
Y (9,7)&(6,7)
6.
2)
9 (8,9)&(2,3) 2
9.
Y (7,8)&(3,2)
10.
° (7,6)&(6,1)
11.
6
) (3,5)&(1,4) »
7)
(4,7)&(6,2)
8)
(8,8)&(5,2)
9 (7,5)&(10,10)
19 (8,9)&(10,4)
D (1,1)&(3,8)
12 (3,5)&(5,9)
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Math www.CommonCoreSheets.com 9 11-12( 8 | O




|

Finding Midpoint Based on Coordinates

Name:

Answer Key

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, Yi+Y, R . (75,7)
2 , 2
(25 To find the midpoint of the 2. (2 ’ 6)
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula (63 3 (5 , 6)
[ngl];r O "
Fro] 4+8  5+1 of
2, 2 > s (5,9
\_ Y
s (6.5,35)
1) 9+67+7 \ _

(9.1&(8,7) (55 ) = (5.7 & (2,45)
2 (1,8)&(3,4) (1;3,8;4) - (2,6 ., (5,45)
3) (8.9)8&(2.3) (8;2,9;3) - 5.6 g. (65,5

o. (85,7.5)
4 (7.8)&(3,2) (7;3,8;2) - (5,5
10. (9165)
5) 7+66+1
,6)& (6, , = (6.5, 3.

(7.6)&(6,1) (-5 ) = (65,35 L (2.45)
® (3.5)&(1,4) (3;1,5;4) = (2,45) r  (4,7)
D (aneas2) (5052 = 6,49
8 (8.8)&(5.2) (8;5,8;2) - (65.5)

9 (7.5)&(10,10) (7+21°,5+210 ) = ®5.79
19 (8,9)& (10,4) (8+210,9;4) - (9,65
W (1.1)&(3.8) (1;3,1;8) - (2.45)
12 (3,5)&(5,9) (3;5,5;9) - @7
1-10 | 92| 83| 75|67 |58 | 50| 42| 33| 25| 17|
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of each set of coordinates. Answers
/ Midpoint Formula The midpoint is at (6,3).\
4 X, X, YitY, A 1
2 , 2
To find the midpoint of the 2.
O coordinates (4,5) and (8,1), plug the O
values into the midpoint formula. 3
e '
O 4+8 5+1 o
> 2 2 . 4
\_ ’ J|"
5.
Y (0,9)&(5,2)
6.
2)
3 (6.6)&(6,8) N
9.
Y (7.1)8(6,5)
10.
5) (6,10)&(8,0)
11.
6
) (4,7)&(0,0) 12.
7 (9,4)&(10,1)
8)
(8,7)&(3,2)
) (7,5)8(2,4)
19 (10,6)&(3,5)
W (7,1)&(7,0)
19 (8,6)a(8,4)
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
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Finding Midpoint Based on Coordinates

Name:

Answer Key

Find the midpoint of each set of coordinates. Answers
/A |X1|110|Xr:t o)r/lrrluyzzi 'ihem|dp0|nt|sat(6,3h . (25,55)
2 ., 2
L (45 To find the midpoint of the 2. (4 1 15)
O coordinates (4,5) and (8,1), plug the O
valuesinto the midpoint formula (63 3 (6 , 7)
[ngl:l;r U "
o+ 4+8 5+1 &
> 2 ., 2 > s, (6.5,6)
\_ Y
5, (7,5)
D (0.9y&(5,2) (252272 - (25,55
’ 2) (g )= @55 . (2,35
P (3,00&(53) ((3°57) = @19 . (95,25)
3 (6.6)&(6.8) (6;6,6;8) = (6,7) s. (55,45
o. (45,45)
Y (7.naces) ((REE2) = 659
0. (6.5,5.5)
5) 6+810+0
6,10)& (8,0 , = (7,5
(er0a(0 (7757) =09 un (7,08)
6) (4.7)&(0,0) (420,720) = (2,35) - (8,5)
D (9.4a(0,1) (L) = 95,25
D (8.1a(3,2) (32122 = 55,49
P (7.51a(2,4) (5221 = ws a9
19 (10,6)&(3,5) (1053,6;5) - (65,55)
W (7.1)&(7,0) (7;7,1;’0) = (7,05)
12 (8.6)&(8,4) (8;8,6;4) - (8.5
Math www.CommonCoreSheets.com 10 11]:}1?2 982 8(:)3 75|67 58| 50|42|33|25|17|




